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Name: __________________________________



1
The formula [image: image1.png]041+ 273




 is used to determine the speed of sound, S, in meters per second, near Earth’s surface, where t is the surface temperature, in degrees Celsius.  Which graph best represents this function?

	1)
	[image: image2.png]




	2)
	[image: image3.png]




	3)
	[image: image4.png]




	4)
	[image: image5.png]






2
If [image: image6.png]f(x) = Af9—x°



, what are its domain and range?

	1)
	domain: [image: image7.png]{(x|-3=x=3}



; range: [image: image8.png]{y|0=y=3}





	2)
	domain: [image: image9.png]{x|x=x3}



; range: [image: image10.png]{y|0=y=3}





	3)
	domain: [image: image11.png]


; range: [image: image12.png]{y|y=0}





	4)
	domain: [image: image13.png]{x|x=3}



; range: [image: image14.png]{y|ly=z0}







3
What is the domain of [image: image15.png]h(x) = fx* —4x-5



?

	1)
	[image: image16.png]{x|xzlorx=-5}





	2)
	[image: image17.png]{(x|xz50rx=-1}





	3)
	[image: image18.png]{x|-1=x=5}





	4)
	[image: image19.png]{x|-5=x=1}







4
The equation [image: image20.png]0N+ 273




 relates speed of sound, V, in meters per second, to air temperature, C, in degrees Celsius.  What is the temperature, in degrees Celsius, when the speed of sound is 320 meters per second?  [The use of the accompanying grid is optional.]

[image: image21.png]




5
The number of people, y, involved in recycling in a community is modeled by the function [image: image22.png]3% +400




, where x is the number of months the recycling plant has been open.  Construct a table of values, sketch the function on the grid, and find the number of people involved in recycling exactly 3 months after the plant opened.  After how many months will 940 people be involved in recycling?

[image: image23.png]




6
On the set of axes below, graph the function represented by [image: image24.png]


 for the domain [image: image25.png]-f<x =10



.



[image: image26.png]=
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For real solutions, the expression under the radical must be greater than or equal to zero.  [image: image27.png]x*-4x-520
(x-5(x+D20



.  For the product of these two binomials to be positive, both binomials must be either positive or negative.  [image: image28.png]x=520and x+120
x25md x2-1
x25



 or [image: image29.png]x=5<40and x+1£0
x<5md x<-1
-1




.  [image: image30.png]
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.  [image: image33.png]v =20./C+273
320 =204/C+273
16=/C+273
256 =C+273
o=-17
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 670, 12.  [image: image37.png]¥ = 90.f3(3) + 400 = 90(3) +400 = 670



.  [image: image38.png]940 = 90+/3x +400
540 = 904/3x
6=[3
36-3x
x=12
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